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Supplementary Information

S.1 The Model

We recapitulate briefly the derivation of equation (1.2) from the main text to explain the notation and to
clarify the assumptions that go into that derivation. For ease of comparison, we follow the nomenclature of
Frank and Slatkin. The mean reproductive success of alleles A; and As, and of the population as a whole
can be written as

1 Nq1
Ry = — (1 + i) =1 + a1

1 Ng2 (Sl)
Ry = Niqg Z(M2 +ag) = po +

i=1

R=q R+ qR;.

Here, py, are the expected mean reproduction for allele k, ay; are the deviation of the reproductive success of
i*h individual carrying allele k& from this mean, and oy = Mean[as,;] represent the mean deviation of the
realized reproductive success from the expectation for allele k.

The frequency ¢} of the A; allele in the next generation is given by ¢} = ¢1R1/R. The expected change in
the frequency of the A; allele, is simply E[Aqi] = E[¢}] — ¢1. Substituting the relations from equations (S1)
and using g1 + g2 = 1, we have

_ o [ @@l + o) = (p2 + ao)]
Blda]=F [ q1(p1 + 1) + ga(p2 + az) } ' 52

Without loss of generality, Frank and Slatkin set gi 1 + gope = 1, which corresponds to rescaling the p and
a by the expected reproductive success of the population. Equation (S2) then reduces to

(1 + o) — (2 + az)] ' (S3)

FElAq] = E
Aol = na. [ l+gior +qas

The trouble in evaluating equation (S3) comes from the fact that there is not a general solution for the
expectation of a ratio. However, provided that the overall stochastic fluctuation in reproductive output is
small relative to the total population size (AN < N, or equivalently, ¢11 + gaara < 1), we can approximate
it as

ElAq] = q1¢2E [(11 — p2 + a1 — a2)(1 = (g1 a1 + gz o2) + (g1 o1 + g2 a2)?)] + O(a?). (S4)
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One potentially confusing aspect of this derivation arises from the fact that we are considering two
different types of mean value. The first, represented by a; and as, is an average across individuals, but
limited to a single realization of the stochastic process undergone by the population as a whole. The second,
represented by the expectation operator EI...], is a mean taken over many hypothetical realizations of the
reproductive process of the entire population. While oy and g could each take on either positive or negative
values in any single realization, these quantities are defined such that E[o] = E[az] = 0. The higher
moments of these fluctuations are, however, not zero:

Eloi] = Var[Ri] = p1 o7
E[a2] = Var[Ry] = py 03 (S5)
Eloq ag] = Cov[Ry, Ry] = p12 01 02,

where Var[Rg] and Cov[Ry, Ra] represent the variance of Ry and the covariance of Ry with R, respectively.
With this in mind, we can now take the expectation of each of the terms in equation (S4). We can also
simplify notation by introducing Au = p1 — pe. This gives

E[Aq) = quao(Ap 4 qi(qr A — DE[e3] + (g1 — g2 + 212 Ap) Eay ao] + qa2(qo Ap + 1) E[a?]) + O(a®) .

(S6)
To arrive at their final expression, Frank and Slatkin make the further assumption that Ay is small.
Equation (S4) then reduces to
E[Ap] = q1g2(Ap — qi Elof] + (a1 — ¢2) Elen as] + g2 E[03]) + O(a®, a®Ap) . (S7)

S.2 Diploid Model

For the diploid analog of the Frank and Slatkin model, we begin with the reproductive success of the three
genotypes. For simplicity, we assume a well mixed population at Hardy-Weinberg equilibrium.

Nq%

Ry = N2 Z (p11 + a11i) = pa1 + a1n
o

1 2Nq1q2
Ris = m ; (12 + @i2i) = pi2 + a2 (S8)
Naj

Rop = NaZ Z (M2 + ar22i) = proa + a2z .
92 5=

From this, we can calculate the reproductive success of the two alleles:

Ry = q1 (pa1 + a11) + ¢2 (12 + 2 012.1)
Ry = qa (p22 + a22) + q1 (12 + 2 12.2) (S9)
R=qRi+q@R,.

Note that in these expressions , we have split the a2 term into two components. In the previous expression,
a19 represents the deviation of the number of offspring from the mean for Rys individuals. Assuming fair
segregation, we the expected number of those offspring to carry the A; an Ay alleles will be equal 2.1
represents the excess number of offspring to inherit an A; allele from an Ry5 parent (and aqg.o the excess
inheriting Ay). The quantity p12/2 + aq9.1 is distributed as a binomial B(u12 + a12,1/2), and
12.2 = Q12 — (12.1-

Now we can write our expression for the expected change in allele frequency

@1 (t11 + 1) + @212 + 2a12.1) — ¢1(p12 + 2 12.2) — ga(pto2 + a22)
1+ ¢} on1 + 2q1g2 12 + g3 oo

E[Aq] = o F (S10)
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where we have again normalized by the total expected reproductive output by setting
@2 w11 + 2q1Go f12 + G5 poz = 1. As in the haploid case, we assume that the fluctuation AN is small
compared with the total population size N. This allows us to approximate this ratio as

EAq] = qig2 |q1(pi1 — pa2) + g2 (12 — po2)
(S11)

*Q?E[a%l] =+ ng[OéQ] - 4‘11Q% E[Ot12.1 0412} + 4(1%(12 E[Oé12.2 0412}

We again assume that the reproductive success of different individuals is uncorrelated, and we additionally
assume that the population is at Hardy-Weinberg equilibrium. In this case, the non-zero variance and
covariance terms are

2
o
E[a?,] = Var[Ry, :p1102 =1L
%] = Var{Ru] = p oty = g1
2 2 o3
Elag,] = Var[Ras] = pa2 03y = No2 (S12)
a3
1 o?
FEloi24 a12] = Eloqa.s aqa] = = —12
[12.1 2] [12.2 Q12] 2 9NOB
The approximation for the change in allele frequency then reduces to
o? o2 o2 o2
E[Aq] ~ _ g 712 _ g2 ) 1
Aq] = q1¢2 {th <,u11 N M2 + N + g2 | p12 N 2 + N (S13)

Note that, as in the haploid analysis, if we define the effective fitness of a genotype as w, = u — 0?/N, this
reduces to the standard formula. Furthermore, if allelic effects on reproductive mean and variance are
additive, it reduces to the haploid equation.

S.3 Genomic Imprinting

Treatment of the general diploid case with genomic imprinting requires the addition of the fact that the two
heterozogous genotypes may have different phenotypes. To accommodate this, we modify our notation such
that two-number subscripts are ordered, with the first number indicating the identity of the maternally
inherited allele and the second number indicating the identity of the paternally inherited allele. For example
112 now represents the mean reproductive success of heterozogous individuals whose A; allele was maternally
inherited and whose A, allele was paternally inherited.

We now have four expressions for the mean reproductive output in a given generation:

Ng;
Ry = NoZ Z(Nu + 11i) = p11 + oax
i

1 2Nq1q2
Rip = 12 + Qi) = pi2 + Qa2
Nod ;é; (n i) =p
(S14)
1 2Nq1q2
21 = 21 + Qio13) = P21 + 21
Na1q2 ; (N z) 2
N
Roo = N2 Z(Mw + a99i) = po + o2 .
PR
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The corresponding expressions for the reproductive output of the two alleles are

Ri=qi(p11 +o11) + ¢ (% + 121 + % + 0621.1>

Ry = q2(pa2 + a22) + @1 (% + 2.2 + % + 042142> (815)
R=q R+ qR,.

Once again, we assume that the fluctuations in total reproductive output are small compared with the
population size, and that individual reproductive outputs are uncorrelated. The expected change in allele
frequency then becomes

o, M2 01y o1 | O3 p2 Oy p21 03 o3
E[Aq] ~ _ 0 M2 iy B2 Oh1 M2 Oiy P21 O 933
[Aqi] ~ q1g2 [fh (Mu N 9 + N B + N + q2 9 ON + 9 ON f22 + N

(S16)
The result is virtually identical to what we found in the diploid case (without imprinting), with the mean
and variance of the heterozygotes’ reproductive output being replaced by the averages of the means and
variances of the two different heterozygotes. That is, we once again recover the standard expression for the
change in allele frequency if we define effective fitnesses as w11 = p11 — 0%1 /N, wag = piog — 052 /N, and
Wiz = (a2 + p21)/2 — (013 + 03;)/(2N).

Often, genomic imprinting involves the transcriptional silencing of one of the two alleles, such that the
phenotype of the individual depends only on the maternally inherited (or paternally inherited) allele. For
example, if we were considering an imprinted locus with expression only from the maternally inherited allele,
we would only need to consider two values of reproductive mean and variance: p1., ji2«, 05,, and o3,, where
* indicates either allele. Equation (S16) then reduces to

o2, o2,
Blaa] ~ B2 (. - % .+ 7)), (517)

which is identical to the haploid result, except that the expected change in allele frequency is reduced by a
factor of two.

Two Sexes

We now consider the case where our diploid model has two sexes, in which the same genotype may be
associated with different means and variances of reproductive success. To indicate the two sexes, we will
include an additional subscript of F' or M to each of the variables previously introduced. As before, we start
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with the mean reproductive success of each type in the population:

1 Nyqi
Rirp=—— (p11Fr + 011ri) = p11r + 01r
Nrgi ; 7
1 2NFq1q2

Rior = > (mar + arapi) = paar + 0aap
FQ192 =
1 2NFq1q2
Roip = Ho1F + Qo1pi) = M21F + Qo1F
Nrqiq2 ; ( 2
1 Nrqs
Raor = Nrdd Z (Ho2F + Qo2pi) = pa2p + Q22p
i=1
S18
R (S18)
R = — « ) = 1o
11M Nt d ; (11 + i) = pum + a1
1 2NM Q12
Rioy = ——— Bionm + deni) = Biem + Qiem
Nuqige ; ( i)
1 2N q1q2
Roiyp = ——— M1 + Qo1ars) = PaiM + 21
Nnrqig2 ; ( 2
1 Nuq3
Rooym = m Z (o2 + 220ri) = foanr + Qo2 -

i=1

Because the total reproductive output of males and females in the population must be equal, the allele
frequency in the next generation will simply be the average of the frequencies of the alleles passed on by
males and females. Assuming that mating and sex determination are both independent of the genotype at
this locus, this means that we can analyze the two sexes separately. That is,

mmm=1<R”—m)+1<&M—m), (S19)

where the E[Ag;]. terms have the same form as equation (S16). Substituting the appropriate expressions
into this equation gives us

2 2 2
a1 o11r H12F O12F HU21F 031

ElAq | = = — — + — +
[Aai] Q1Q2l2 <’UHF Np 2 2Np 2 2Np

2 2 2
Oiim  Mi2m + Olopm  M21M + JQlJVI)

+piim — Ny 9 2Ny 2 2Nym
2 2 2 (S20)
Q2 ( f12F  Olap | M21F  Oyip 922F
+ 5 ( 5 SNy + 5 Ny oo + Ny

2 2 2
Hizm  Oiopp | M21M Ooq g O22Mm
+ - - — + .

2 2Ny | 2 2N, MPMT N, )]

Recall that our earlier analysis involved normalizing the mean and variance by the total expected

reproductive output F[R]. In this analysis, that normalization happened separately for males and females.
That is, if we want to interpret i and o2 as the mean and variance of the number of offspring, we would need
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to make the following changes:

N Np pier
HxF N
Nas s

g Dtes

N2 0.2 (821)

0_2 N FYxF
* I N2
N2 af )

ol — 7]\5\72 M

We will not make that substitution here, since the separately normalized versions of y and o? correspond
more closely with our intuitive notions of relative fitness.

Our analysis will focus on the case where the sex ratio is 1:1 (Np = Njy), however, we pause to note a
few interesting features of equation (520). First, the effective mean reproductive success of a genotype is
simply the arithmetic mean of the genotype’s relative fitness in males and females: p, = (ap + tanr) /2.
The effective reproductive variance of a genotype, by contrast, is a weighted average that depends more
heavily on the reproductive variance in the rarer sex.

2 2
af__zv<3$;'+-3$ij> (S22)

Note that this also means that selection will favor bet-hedging phenotypes more in the rarer sex. Given that
the benefits of variance reduction are greater in smaller population sizes, this is not surprising. In the case of
a 1:1 sex ratio, these effective mean and variance terms can be substituted to recover equation (S16).

S.4 Two-generation model

The frequency of allele A; after two generations follows from equations (2.11) in the main text and is given
by

;o q1(t1a + 0na)(p1p + o)
a1 = . (S23)
1 (f1a + 0na) (p1s + op) + q2(p2a + @24) (p2s + a2p)

In order to simplify this expression, we introduce the following definitions:
Fab = q1ft1aM1b + G212 20
§1 = M1aQ1p + H1bQ1a + Q1aQ1b (S24)

&2 = UaaOiop + HopQlag + CiaqQiop -

Substituting this notation into equation (S23) gives us an expression for the change in allele frequency after
two generations:

Fati1y = P2abizn +& — & . ($25)
Hab + @161 + q282

In this form, we can see that equation (S25) is analogous to equation (1.2) from the main text. The
expected reproductive success of alleles A1 and As is pigp1p and pigpe1p, respectively. The terms & and &
are the deviations from those mean values. We scale [iq, to one as before, and we assume that the difference
between the means is small (|p1a016 — f2qft2p] < 1) and that the total stochastic deviation is small relative
to the mean (|g1&1 + ¢2&2| < 1). We also restrict our analysis to the case where the reproductive success of
different individuals is uncorrelated. The expected value of the change in allele frequency is then given
approximately by

Aqr = qig2

ElAq] ~ q1g2 (Nla,ulb — H2af26 — (J1E[§%] + (I2E[§§]) : (526)
Substituting the relationships from equation (S24) back in and taking the expectations, as above, yields
2 2 2 2 2 2 2 2
H1a%1p  H1p%1a H2492p | H2p924
E[Aq] ~ alb1b — Hoa - - , S27
[Aqi] = q1g2 (H1ak1 — H2akior — 1 o N N + q2 &N + N ) (S27)
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where the primes denote the allele frequencies in the intermediate generation, and we have discarded terms of
order 1/N2. Recognizing the fact that ¢} ~ 1114¢1 to the required order, this further reduces to

2 2 2 2 2 52
M1a%%p _ 16910 | H2093p | “21)02&) ) (528)

FElAq | = a — l9g _
[ (Jﬂ 4142 (ul H1b — H2af2b N N N N

Two-Generation Bet-Hedging at an Imprinted Locus

The logic of the analysis that follows can be grasped intuitively from consideration of equation (2.13) from
the main text. If the a terms in equation (2.13) represent the values in males (averaged across parental origin
and genotype), then the b terms will represent values for paternally inherited alleles (averaged across sex and
genotype). Similarly, if a represents females, b will represent maternally inherited alleles. Due to the final
term in equation (2.13), the benefits of increasing mean reproduction (e.g., at the expense of increased
reproductive variance) decline as the reproductive variance in the previous generation increases.

In most species, males have a higher variance of reproductive success than females. That means that in
considering the fitness trade-off between increased mean and reduced variance, alleles will receive a greater
benefit from reducing reproductive variance when paternally inherited, while alleles will receive greater
benefit from increasing the mean when maternally inherited. At an imprinted locus, where alleles exhibit two
distinct strategies based on parental origin, natural selection will favor divergent strategies, leading to the
type of intragenomic conflict and evolutionary arms race observed in other imprinted systems. At the margin,
paternally expressed imprinted genes will favor phenotypic traits that reduce reproductive variance (at the
cost of reduced mean reproduction), while maternally expressed imprinted genes will favor traits that
increase mean reproduction (at the cost of increased reproductive variance).

We can make this intuitive analysis explicit by first defining the overall reproductive mean and variance
for an allele conditional on its being present in males or females. For allele A; in females,

pirp = q1 p1ir + %2 (t12F + po1F)
(S29)

2 2 q2 ; o 2
OiFr=q 011F+§ (0tar +051F) -

Analogous relationships hold for allele A and for males. We also have similar expressions for the
reproductive mean and variance conditional on parental origin. Thus, for allele A; when maternally
inherited,

q1 q2
— (W11r + paiv) + = (B12r + pionr) = q1 p11 + g2 fi2
L ( )+ 2 ) a0

2 _ 2 2 2 2 _ 2 2
01« =1 (0'11F + UnM) + q2 (‘712F +U12M) =q1011 T Q2075

MHix =

Again, the analogous expressions for As and for paternally inherited alleles are straightforward.

The two-generation effective fitness for allele A; is simply the average of equation (2.13) over two sets of
alleles. The first is alleles that are present in females in generation a and are maternally inherited in
generation b. The second is alleles that are present in males in generation a and are paternally inherited in
generation b:

1

wy = 5 <M1F Bix + B1nr pa1 —

MiF 0'%* _ H1Mm 0'31 _ /J%* U%F _ 'u’il O%M (831)
N N N N

The term wo can be similarly defined (see discussion following supplementary equation (S34) for details),
and, with these definitions, the expected change in allele frequency is E[Aq1] & ¢1¢2(w; — ws). In order to
understand the basis of the intragenomic conflict, we compare this expectation for pairs of alleles A; and As
in two different contexts: an imprinted locus where only the maternally inherited allele is expressed E[Aq]m,
and an imprinted locus where only the paternally inherited allele is expressed E[Ag],.

For clarity of presentation, our analysis is restricted to the case where the alleles do not have sex-specific
effects on mean reproductive success (u1r = pipr and pop = popr), though it is easy to relax this
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assumption. The difference in the expected allele frequency changes is then given by

2
Bl - Elda, = DD (12 )0ty - atp) + (4 2oy~ odp)) . (832)

If reproductive variance is greater for males than for females, as is typically the case, then
E[Aqi]m — E[Aq1], will have the same sign as p? — p3. That is, if g1 > u2, allele A; will have a greater
advantage over allele A, at a maternally expressed imprinted locus than at a paternally expressed one.

The result can perhaps be seen more clearly if we assume that p? — u2 ~ 2(uy — pz), which follows if pq
and po are both close to 1, and we assume that the difference in male and female reproductive variances is
the same for both alleles. We then have

E[Aq]m — E[Aqi], = % (11 — p2) (03 — 0%) (S33)

which is our final result discussed below.

S.5 Two-Generation Model with Imprinting

Here we derive our expression for the expected change in allele frequency E[Aqi] = q1¢2(w1 — ws), starting
from the two-generation effective fitness expressions provided by equation (S31) in the main text and
reproduced here:

NlFU%* MM 031 _ M%* U%F . M31 U%M
N N N N

1
w1 = 5 (,UlF is + 1 a1 —

(S34)
wo — 1 Lop fiae + piang ey — P2 03, HaM 0%y 13,03 Hia 5y
2 = 5 | H2F pan + p2n fia2 ~ N N i

The terms p1r, p1nr, por, and pops are the mean reproductive success of alleles A1 and As in females and
males, averaged across genotypes. The analogous o2 terms are the corresponding reproductive variances.

pir = q1 pir + %2 (H12F + Ho1F)

Hor = q2 pooF + 4 (12r + p21r)

2
q2
pinv = q1 p1im + o (p12as + Ho1ar)
q1
Honm = g2 poon + = (piom + po1m

2 (S35)

2 2 q2
Oip = qQ1011p + o 5 (012F+U21F

)

)

2 2 q1

Oop = q2099p + — 9 (‘712F + 0211?)

oy = Q0T + q22 (012M + 0’21M)
)

2 2 q1
Oom = 420220 + 5 (ofans + 0510r
The term py, represents the mean reproductive success of maternally inherited A; alleles, averaged across

genotypes and sexes, while p,; is the mean reproductive success of paternally inherited A; alleles. The
corresponding values for Ay are given by g, and 1.0, and again the analogous o2 terms are the
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corresponding reproductive variances.

(p11r + p1im) + kel (H12F + p120) = q1 a1 + G2 pa2

_4
M1 2

2
Pox = q2 22 + q1 p21

Hx1 = q1 H11 + g2 21

M2 = G2 [22 + q1 H12

ot = qi (o1 + otin) + @2 (0har + 0ton) = Q1071 + g2 07

2 _ 2 2
02+ = (209 +q1 03

(S36)

2 _ 2 2
01 =q1011 + Q209
2 2 2
Oy2 = (209 +q1 07

In order to focus our analysis specifically on imprinted gene effects, we will make the simplifying
assumption that the alleles do not have sex-specific effects on mean reproductive success (e.g.,

H11F = H11M = H11-

We now separately consider two cases: an imprinted locus with maternal expression, and an imprinted
locus with paternal expression. This allows further simplification. For example, at the maternally expressed
locus, p11 = p12 = p1, whereas at the paternally expressed locus, pull = p21 = uy.

Recalling that our values for p were normalized such that the expected mean reproductive output for the
population as a whole (and for males and females separately) is one, for the maternally expressed case our
expressions for the reproductive means are

1+
PAF = HiM = G + %2 (1 + p2) = 2#1
1+
poF = Han = G2 po + % (1 + p2) = 2'u2
(S37)
Hix = M1
H2x = H2

Ml = Hs2 = q1 1 +qa 2 = 1

This simplifies our effective fitness expressions to

_ 171 o (A+m)ot, (A+m)oly piotp oiy
Wim =5 | 5 (1+p)" - - - -
2 \ 2 2N 2N N N (38)
wom = L (L1 gy~ At i) 08, (Lt pa)ody  piose  ohy
T\ 2 2N 2N N N

We can also simplify our expressions for reproductive variance. First, we introduce the simplifications
associated with assuming that the phenotype depends only on the identity of the maternally inherited allele.

2 2
U1F—(J101*F+ (Ul*F+J2*F

5 )
03p =q 05, p + 21 (Ul*F + J2*F)
O =10ty +2 9 (Jl*M + JQ*M)

) (39)

2 _ 2 q1
Oam = Q2 02u 1 + 9 (‘71*1\4 + 05un

2 _

0, =0%p + 0t
2 _ 2 2
02y = Ogup T O,
2 _ 92 _ 2 2 2 2
041 = 0y =41 (UI*F + UI*M) + g2 (02*F + JQ*M)
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Next, we reparameterize these equations in terms of the total variance (e.g., 0 = 0, + 032,,,) and the
difference between male and female variances (e.g., Ao} = 0%, ,, — 0%, ). The variance expressions then
become

a2
= L0 (03— aod) + 2 (0} - Ac})
1+
o3 = —5 = (03 = Ad3) + T (o7 — Ad})
14
ot = —5 0 (07 + Ac?) + L (03 + Ad))
1+¢ q (540)
os = 5 2 (ag + Aog) + 51 (a% + AO‘%)
of, = 0%
03, =03
02 =02 =q 0} +q205
Now, substitution into our fitness expressions gives us
wim = S L1 4 )2 = L) (L+q)of +a203)  pi (1+aq)(0F = Ad}) + ga(03 — Ad3))
m=o g 2 N oN
_ (0 +a@)(of + Ac}) + ga2(03 + Ad3)
2N
2 2 2 2 2 2 2 (541)
Wor, = i1 (14 po)® — (14 p2) (1 0% + (1 + g2)03) K2 ((1+g2)(03 — Ad3) + qi(of — Ad?))
=gl 2 N 2N
(1+g2)(03 + Ac3) + ga(0F + Ao%))
2N

We can contrast these results with the analogous equations for alleles at a paternally expressed imprinted
locus. The first terms of the fitness expressions are identical for the two cases. However, the last two terms
differ in each case. In the maternally expressed case above, the 2 and p3 terms are multiplied by the
reproductive variances in females. In the paternally expressed case below, these squared mean terms are
multiplied by the reproductive variance in males.

1(1 1 1+ 2 4 o035 1 2 _ Ag? 2 _ Ag2
wlp:< (1+N1)2—( —|—,u1) (( q1)01 q202) ( +Q1)(‘71 (71)"‘(]2((72 02)

2\2 2 N 2N
pi ((L+ @) (0f + Adi) + g2(03 + Ad3))
2N
1(1 1 (ot +(1+g)o3) (1 3 — Ao3 7 — Ao} 1
w2p=<(1+u2)2—( + p2) (¢107 32)03)  (1+gq2)(03 — Ad3) + qi(of — Aoy)
2\2 2 N 2N

13 (14 g2) (03 + Ac}) + ga(o? +Aa%>)>
2N

Now, a final substitution will facilitate direct comparison of these results. We set u? = 1 + so and
u3 =1 — s3. We can then compare the selective advantage of allele A; over A at a maternally expressed
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locus with the advantage of a similar allele at a paternally expressed locus. That is, we consider

s2 (14 q1)(0f — Ad?) + g2(03 — Ad3))

Wim — Wam — (wlp - w2p) - -

4N
52 (14 92)(03 — A3) + qu (0% — Ad?))
4N
(S43)
s2 ((1+q1)(07 + Ad?) + ga(03 + Ad3))
+
4N
s2 ((1+ g2)(03 + Ad3) + go(0F + Aci))
+
4N
which reduces to
pi— 3
Wiy = oy = (w1 = wzy) = FLE2 (14201 (A0F) + (14 22) (A0)) (544)

If males have a higher variance of reproductive success than females, as is most often the case, the terms Ao?
and Ao? will be positive. That means that, in terms of the relative benefits of increased mean and reduced
variance, the benefits of increased mean reproductive success are greater for alleles when they are maternally
inherited than when they are paternally inherited.
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